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     学而思·乐加乐
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(BX3)X16+B4+3) X (3+3) X9+ (34+3+3) X (34+3+3) X4+ 3+
3+3+3) X (3434343) X1 = 1444324 +3214 144 = 936 (EHEH),

6. FFFR A0 KAZ— A0, BB 3 600 40 = 90(4) '

PR 60 KIZ— YL FEFISHL: 3600 =120 = 30(4™),

HHHI MR 90— 30 = 60(A4N),

7. MRFEEEBTE PSS B E R SRS S X A R £
WK . BRIEN TR MBI EHLE . G TR AL P WA B k.

LSS5 B B Bt ] 2 .

TX548X4410X 34 15X 2429 = 156(4p4H) .,

B/MAGFHE R 10 X 156 = 1560070),

8. FRIRARE R R EE 3 /Nt EERR 2T E L 3 /At B ZR B 1
ANt I RTEER SR ELT L/, EXNE 2 BiE s EE R 2. i3
PR ZHATHIBBRREMASN.

RZFTELBH 2z /M, BITRLBR -3+ D /it WEEEHH
7,15,

40(x — 34+ 1) = 35z, f#7% r = 16,

B ZFHBER R 40 X (16 —3+1) = 560(F24) 5% 35 X 16 = 560(-F%).

9. B /DAE = /DEC = /EBC = 90°(E2.%) , 1§ /BEC = 180° — 45° —
90° =45°, ATMIABEC REEE M =fIF. BE = BC,

XAR: LAED = 180°— /BEC — /CED = 180°—45°— 90 = 45°, 3£ A3k
## LADE = 180°— L AED — /EAD = 180° —45°—90° = 45°, 3R1BAAED £
SEEMA =M. 5H AE = AD,

HULE Summy = (AD+BC)AB+2=(AD+BC)(AD+BC) +2=10X 10+
2=50CFFEX),

10, BREBEFBE - B,/ NEEE0NE (18—2) B .3FE.1E.

180x + 120(18 — x) = (302. 4 — 252) =0, 02,

BB =6()18—7x=18—6=12(H).

MABER 6 R /NEEH 12 A,

11, SRYE 1000 LAPIREBER 4. 5. 7 SERANE, FooRAERE 4. 5. 7 BB

BERE 4 BB 1000 =4 = 250(4);

B5 BERAIE: 1000 =5 = 20004N);

BT BBRAINE: 10007 = 14204 & 25

B (4 X5) BN 1000 = (4X5) = 50();




[image: image3.jpg]BHOEXDBERAMEL: 1000+ (5X7) = 28(4) 4 205
BUXDEBEANE: 1000 = (4 X 7) = 35(4) 4 20;
HAXSX DB 1000+ (4 X 7X5) = T() 420,
[RImHRERE 4. 5. 7 BERHIAEL: (2504 1424-200) — (284-35+450) 47 = 592 —
11347 = 486(4™),
1000 LANARER 4. 5. 7 BEREAIDHCH 1000—486=514(1),
12. B2HEH » K0
1424344 (n—1) < 60, .
14243+-+n > 60,
B 1+243+44+10=55, 14+243 444411 =66, Al H, n=
11, BUNER SR 66 —60 =65,

. BER
1. ARA—EE NG, FAHEKO.47 7T, 28K, XAFHMN 0.48 76,84k C,
2. % C,

=. &8
B KB BTG IR MR, AR e (TR /B, U
(x—4) X (6+3600) = (x—67) X (48 =3 600,

818 x = T6(FH / &), BZEK: (76 —4) X (1000 X 6 =3 600) = 1200K),
IS K EEEE Y 76 TR/BE, FERK R 120 X,

M. 3hF Zhismm
B
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EFBREREAELE
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1. B =1+G—2)4(5—4)+(7—6) 44 (2003—2002) +(2005—2 004)

= 141002 = 1003,

2. 10%x = x4+ 22+ 3z +4x + 52 + 62+ Tx + 8z + 97 + 10x = 220,

2(1424+3+4+54+6474849410) = 220, 55r = 220, x = 4.

3. 1000+ 5= 200, 2005 = 40, 40+5=28, 8 +5=14%3, 253-5=50
43,50+5=10,10+5=2,

(200440 +8+1) — (50 + 10+ 2) = 249 — 62 = 187(4>),

BIFHARRILE 187 ME,

4. B.ZHWATE A, B BT, KB, BPEZKMBER,IET 3480
FK,BP 80 X 3 = 240 FK, FEWRAHIEE A #b 60 TXK.,

FRUAH (Z Wi RIBERE R (80 X 3+ 60) =2 = 150(F %),

5. RN,
3XAXI6++3) X4X9I+(B+34+3) X4 X4+ 3+343+3) x4 =

ROO(TEY
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